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1. Ul.EIl Hl'Ll-Ul= 
"1= 

6llle 35il*Llrl?(1s:36) What do paul and
Barnabas decide to do?

2. HIEII HlLlul= +?0ll Pl6H 9A0l grl6lII gr?t*Llrl? 0n whar do
Paul and Barnabas disagree?

3.01 'J=3 '?1+9 84011 
"?= 

relLJLl)ll.? What does this conflict
reveal about each man's qualities?

4. Hl=3 ell tletllCIllil gHl(]6:3)E =d-*#U4? (ql+Ag slEOit^.t 4 f'
Il glOlE Etlf, 

=5-el 
gAJl(15:1-ll)? Why does Paul circumcise

Timothy?

s. Hl=g DIlAlIl= EIAI +l0l'= oig/l $E-iI*Lt4? (16:14-15) What
is Lydia's response to Paul's message?
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